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(i) %9 A% 1Y 8 TH & Ueh-Ueh ek o U &1 TToh S Ueh IIeg 31 Ueh AT H < |

(iv) U RHIE 9 T 21 T YA® U9 3 3{ah HI ¢ | 3TH § TAH T 1 SN 80 Vel 9 e

&l B =

(v) W Ui 22 ¥ 29 T Yo UTA 5 3eh I ¢ | TTH | Yok TR I SR 120 el 9 e
&l BT =1 |

(vi) W kUi 30, e § HHEES G, 3 sfw 1 U © | SR forae % e IS bl STt
IR ITehT ok L THL oY ST |

General Instructions :

(i)  The question paper has 30 questions in all. All questions are compulsory.

(i) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.

(iv) Questions from serial number 9 to 21 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

(v)  Questions from serial number 22 to 29 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

(vi) Question number 30 is map question of 3 marks from Geography. After
completion, attach the map inside your answer book.

1 el St = e WSl H Teg =i IE Rt o1 ? 1
Why did Gandhiji start the satyagraha at Kheda in Gujarat ?

2 eIt AR F1sft stmenfires & § +E T o fafaw | 1
Give one difference between Public and Private Industrial Sectors.

3 IfE Teh ARl =1k <3 Tlehd—1 TfUd HET =Tedl & A STk AT+ i G AT gt ? 1

If a non-democratic country wants to change over to a democratic set up, what kind of
challenge for democracy would it face ?
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2004 ® ET A H D A1 A G I YTHIeh Sl & &Y H S o417
Which party had emerged as the biggest political party in the Lok Sabha elections held in 2004
?

HITFF%@‘W fasqrer qen ool 9 f9e =) e fhe TR &t TR H 1fue et 82

In which form of government do we have the ability to handle social differences, divisions
and conflicts ?

SUHTSKTT STATEehdl % eh1s eh Se34 feifay |

Write any one objective of consumer awareness.

SIS &rTeh TX SAvelieRtol o1 qrel fafy |

Write the impact of globalization on unorganized sector.

WG # Tior 9REm % foTT W (R9T) 1 Haife Aehiad |id - 8 2

Which is the most popular and main source of credit for the rural households in India ?
STferateTett S &t ¥ & foeg, Wil gr fore e forer e, eweel qen gaell & faes st
TR A 9 JhR AR i ?

How did the British government respond to protests, clashes and attacks by the Indians
against the Jallianwala Bagh incident ?

fEeThd ST 1 o1 7 TI S|
What was the Khilafat Movement ? Explain.
STk H fadigl T wogl gR 3101 9igd 9l @l ekl Tdsdl hl 99" 9 o forw fou u ol

i gfie Fifm |

Justify the reasons given by the rebellious nationalities in the Balkans to win back their long
lost independence.

AYAT/ OR
27 Sl ok STiaF U STHRA e fohd A for@n en? 59 e o . g9 T ?
Who wrote the play based on the lives of Trung sisters ? What was depicted in the play ?
Fieeh § afyel) ur ¥ oraftyd ciie-e7oieh &l Ho¥ Sl WeH & AW ffEw | 37 TeH @t a1
ferdrered ferfara |
Name the largest iron - ore mines of Karnataka located in Western Ghats. Write any two
features of these mines.

SR FeM ¥ ST 1 S S 2 T FHIT |

How is tidal energy produced ? Explain.

9N § TR o Grel <Rl SRl Gfed Hedl T Hifsa |

Explain the importance of mass communication in India with examples.
ATRAT>R SR bl TSHITT H YR M & faQ it sIgarrell st fiehl ohl T HifT |
Explain the role of legal changes in reforming politics of democratic countries.
TSR TTSa-e 31 BIT & 2 $Hoh Weh T[0T 1R Teh STV ol SR <hifSrT |

What is a political alliance ? Highlight one merit and one demerit of it.

forell Areheif=reh saaree | TSTHIfden HHI 1 YfHehl o1 9o i |

Explain the role of political equality in a democratic system.

“ SusirerTel bt TR ETieRT o for, SusiieT Sticie st off Tohet el &1 Hehd |’ SUgad qehi g
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TH hYF hl GHYT HifST |

"Consumer movements can never be effective without the active involvement of the
consumers". Support this statement with suitable arguments.

T AL FMNT? 1A% AW T H IR W R? T HIfST |

What is WTO ? Has it been successful in its objective ? Explain

forg YohR HulEl SUHGST Skl 3ThRTd & & fou #Hifewn & gF1 o194 S % o
T TTerd gEAT 39 €7 Sael Higd HeEd |

How do the companies pass false information about their products through the media to
attract consumers ? Explain with examples.

Arfesh STIHUT % o9 ¥ R IR § IR IRa H R 7 38 fRE YR o1 resr § gwfed
fepe? wqee whifsTw |

What do you mean by sense of collective belongingness and how was it practised in India by
the Indians ? Explain.

UL ISR ! TEEd ¥ U2 f51eA o TR0 ot Ulshan 1 9o sifsre
Describe the process of unification of Great Britain with appropriate examples.
3Yar/ OR
HiE  Siufafer s w1 SE faaataat % faw SaR & T ued geaet @ e g
U HIWC |

Describe the content of the school text books meant for Vietnamese during the period of
French Colonisation.

IR & T T o YREEA & TANT S 6 DI U ST HRU T HIF |

Explain any five reasons suitable for the use of waterways in preference to airways.

" IR Rl Sl 1 dgdl WU hl YU Kk fAU g-qdia s 1 SR wE =@l 39 A o6
gfte shifsie |

‘India should harness the geothermal energy to meet the growing consumption of energy’.
support the statement.

AN o1 TSHITG H GoR oM & Tl sl alisr gemse |

Suggest legal ways of reforming politics in India.

qTehd s H foha TR o TGO T8 B0 © 7 394 STaR T hifag |

How many types of movement groups exist in democracy ? Distinguish between them.

‘g U gmed % STIRd het <u & fask § g g ¥1 T ud amed & S % & &
fer=dl df=r il =1 e ifer |

“Cheap and affordable credit is crucial for a country’s development”. Explain any five
advantages of cheap and affordable credit.

AveliRTol & =8l T ThRRIcHS Tl ol I Hifey |

Explain any five negative aspects of globalisation ?

fou gu R & TerHifas TEmmfas § (A) 3R (B) W & @&t fafgd fmd e €1 A= < i Sert
% STYR T 9 A&TN i FgoH L AFTE H g Fafgd W@rstl W 3T 93t 9 fafaw

(A) M SRR TR A R A = W e

(B)  TIM : SRl 1927 ¥ JRA TS Hidd h1 SATATH g3 o
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3t "Ffes W FrAfafea & Suged Sohd g <uIizd ud 9% aM fafa

(€ AR

e : FrefaRaa wo e giesfia aitenfdal & fore amfes yvr & W w E
(29.1) ‘=X TEl' T 1 AR el AT TAT 12

(29.2) 39 M %1 W fafEn s@r 1927 § RS T il 1 SAfered gar o)
(29.3) 3T T 1 AW fafEn sl wer svafied §7?

Two features (A) and (B) are marked in the given outline political map of India. Identify these

features with the help of the following information and write their correct names on the lines

marked in the map :

(A)  The place where ‘No Tax Campaign” was held.

(B) The place where the session of Indian National Congress was held in 1927.

On the same political outline map of India locate and label the following items with

appropriate symbol :

(©)  Amritsar

Note : The following questions are for the visually impaired candidates only in lieu of map
question.

(29.1) Where was the no tax campaign started ?

(29.2) Name the place where the session of Indian National Congress was held in 1927.

(29.3) Name the state where Kheda is located.
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30 fSu g wRa o TSHIfaR T@HEfES § A $R B R ) @ew fafead ford o €)1 = & o et k3
SR W S TI0N bl UgaM X AHaA 8 & Fafgd {@rsti W 376 wet 9™ fafau .
(A) RIS AR o
(B)  ATUTfoIh el €A
3t e W FrAfafea @ & Suged Gohd & gN T9isd Te 39 A fafee
(C) SR AYH @H
e : Frafafea av shae giearfiua udenfot & fau amfar g9 & W w E
(30.1) ST WiE AR 7o v foh T o erafeerd €72
(30.2) 3 T T T TAMGT Sl weTqasm™ Sofaeh o1l Gt Tafeed ¢ |
(30.3) SR Ty @M fohy T4 H feorg 772

Two features A and B are shown in the given political outline map of India. Identify these
features with the help of following information and write their correct names on the lines
marked on the map :

(A)  Aninternational airport.

(B) A nuclear power plant

On the same political outline map of India, locate and label the following feature with
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appropriate symbol :
(©)  Ajmer mica mine.
Note : The following questions are for the visually impaired candidates only in
map question :
(30.1) In which state is Raja Sansi international airport located ?
(30.2) Name the state in which Kalpakkam nuclear power plant is located.
(30.3) In which state is Ajmer mica mines located ?
Political Map of India
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